
If	
  Jimmy	
  weighs	
  twice	
  as	
  much	
  as	
  his	
  li2le	
  sister	
  Sally	
  and	
  they	
  
push	
  off	
  from	
  each	
  other	
  on	
  an	
  ice	
  ska;ng	
  rink,	
  how	
  will	
  their	
  
rela;ve	
  accelera;ons	
  compare	
  in	
  the	
  instant	
  they	
  let	
  go?	
  

(a)  Sally’s	
  will	
  be	
  twice	
  as	
  big	
  as	
  Jimmy’s	
  and	
  in	
  the	
  opposite	
  direc;on	
  
(b)  Sally’s	
  will	
  be	
  four	
  ;mes	
  bigger	
  than	
  Jimmys	
  and	
  in	
  the	
  same	
  

direc;on	
  
(c)  They	
  will	
  be	
  equal	
  in	
  opposite	
  direc;ons	
  
(d)  Jimmy’s	
  will	
  be	
  twice	
  as	
  big	
  as	
  Sally’s	
  in	
  the	
  same	
  direc;on	
  
(e)  Jimmy’s	
  will	
  be	
  four	
  ;mes	
  bigger	
  than	
  Sally’s	
  in	
  opposite	
  

direc;ons	
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